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The ratio between two numbers is 7:11 and
their LCM is 154. The first number is -

(A) 14 (B) 22

(C) 7 (D) 32

In what time T 1200 will become T 1344 at the
rate of 6% annual simple interest?

(A) 2 years (B) 3%years

(C) 2 % years (D) 3 years

If (x - %) = 2, then (xz - %) is equal to -
(A) 4 (B) 5

(©) 2 D) 6

The average age of 3 children of Arihant Singﬁ
is 12 years and ratio of their agesis 3:4:5. What
is the average age of the youngest and.- eldest
child, if he had only three children?
(A) 9 (B) 21
(©) 8 (D) 12

=
L

If ‘@’ is the area of an equilateral triangle and

‘b’ is its height, then the value offg is -

B) 1
(A) 3 (8 -
(©) V3 (D) 1

3
In the given figure, O is the centre of the circle.
Find ZCBD.

(A) 130° (B) 140°
(C) 40° (D) 50°

<Y RS BT AT 7:11 2 R IAPBT A
T 154 ® | ugedl wWe@m 8 —
A2 14 (B) 22

©)7 (D) 32°

2. fpa 9 ¥ 12003, 6% 9 99 AR ATHA B

T ¥ 1344 T B SIMQAT?
2 a% (B) 315

(©) 21 qf (D) 399
2

> o (e 2) = 2 (2 4 ) T € -

(A) 4 (B) 5

465 2 ™6

aRegd Rig @& 3 =i @1 iad g 12 9§ ®
3R ST S BT AU 3:4:5 T | SHDB HIH
B ol waw a8 a= 9 sirad iy @ e,
Iy Tgd Bae das 497

(A) 9 (8) 21

(©) 8 ADF12
aﬁwmﬁﬁmwm*a'ﬁﬂﬂiaﬁ?
'b'?f,?ﬁ'f;aﬂﬂ'l:f%— =

By o4
(A 3 ®) 2
© V3 (D) L

3
& TE Impfa ﬁ,OQﬁ'W?B?%.‘ACBDW
FIfTT | S

(A) 130° (B) 140°
(C) a0° . @F e

130-C ®
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7- 16 persons reap 1/5" field in 6 days. How many
persons (with same efficiency) are required to
reap rest of the field in 8 days?

(A) 64 (B) 48
(C) 27 (D) 54

8 In a triangle ABC, if £ZA ~ ZB = 15° and
£B—ZC=30° then ZAis equal to -
(A) g5° (B) 8o° E?l:
(C) 75° (D) gs°

9.

Two mobile phones were purchased at the
same price. One was sold at a profit of 30% and
the second was sold at a price which was
< 2500 less than the price at which the first was
sold. If the total profit earned on both the
mobile phones was 5%, what was theqcost price

16 aifer 6 fa=it # 1/5a7 @a wie «d Z) 8 f=Ar
& 9 o @) FEA B fera o A (e ,;f’f
2ETeT & |T) B ATl g’ Vﬁ.;‘/;[’/'
(A) 64 \%48 )7’\-.,
(C) 27 (D) 54

Brrer ABC # afd ZA - ZB = 15° ¥R
/B—/C=30°%, &1 LA TRTaR & — '
(A) 65° _B7 80°

(C) 75° (D) g5°

T & P R & daEd B @9e T T
BT 30% S AT UX TET TAT R TAC BT HAH

. Ayarger & faa qoa § 25008 FH TR 991 74T |

IfE 2T AlaTsd B W AT Gl A 5% 21,

a1 U AaTge BT B ArTd ged ar o417

of one_mobile phone? %@Dﬂﬁ T Shri Ramclasses |7
(A) T 4500 (B) Z 8000 (A) 4500% (B) 80003
(©) T 5000 (D) ¥ 6000 (C) 50003 (D) 60003

10. Find the least number of six digits which is 10. ©: sicf & 98 BIE A BT W& FG DIeig
exactly divisible by 15, 21 and 28 - ST 15, 21 3R 28 ¥ qoia: faTST Bl —

/%) 100480 (B) 100270 (A) 100480 5 (8) 100270 % 2321 7
(C) 100340 (D) 100380 (C) 100340 > (D) 100380 ==

11. Rajeev earns 3/2 times in January, April, july 11 3oi STa, e, s 3R AR A ad gd
and October than his average earning of T 600 HEET B Sirad I 600 z ;n:d T BT 3 /2
per month in the rest of the months. S0 his T BT E | SHEL Gﬁ—qﬁ 3, Sels IR
savings in January, April, July and Octobergo.es SR B TET T EII 78T & q9d 400 T
to 5/4 times than that ofr.est of the months, i.e o T W 5/4 T P q@:ﬂ.
saving of ¥400 per month. The average ¥ i

. . 3T I T &7 FUo
expenditure per month is - S
(A) ¥ 233.33 (B) T 250 (A) 233.33% (B) 250% <
(C) Z433.33 (D) ¥ 266.66 (C) 433.33% - (D) 266.66%

12. A train 100 m long passes a bridge at the rate 12. 100 Mrex o) v 34 72 fhAL/He @ o
of 72 km/h in 25 seconds. The length of the TP Gl Bl 25 WhS H UR @A F| Yo B
bridge is - oaTs § —

(A) 400 metres (B) 200 metres (A) 400 HTex 427 200 Hiex
(C) 150 metres (D) 300 metres (C) 150 e (D) 300 Hiex
Pége 3of16
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13 @ md angfa i, af ABIICD. T x4y ag

PITY |

13. . . .
In the given figure, if AB| |CD, then find x+y.

 —

(A) 60° - (B) 110° ?2 AT 60° (B) 110°

(C) 100° : (D) 125° o  (C) 100° (D) 125°

. "3 : e & e %
14. A sum of money in 3 years becomes ¥ 1344 and &, 14. g fdr 3 aul # 1344%@0 el & R 7 aui

o B s 2 ol - 4 3 3
m- -ye;ars it b:comes T|1536,|_U\:hat is the E:\f:g ¥ 7E 1536 281 Wl & | 98 Fo I T § @
principal sum where simple rate of interest is ;

O MR @t &Y JEIRG @1 ol 87

to be charged? s
(A) T 4000 (B) ¥ 1200 (A) 4000% _ABri1200%
- (C) ¥ 2800 (D) T 1500 o (€ 2800% (D) 1500%
15+ 1 37 2% of a number is 45, then 875 % of the 0 15 afy fselt i @ 37:% 45 €, a1 wEn &1
number will be - ' - t&_\; 87%% BRI — ™
(A) 135 (B) 145 11 g E-f ';;:) (A) 135 (B) 145
(C) 105 (D) 115 —~_ A 05 (D) 115
16. Which of the following pairs have the same SI *~ 18- f=feiRaa 49 5w S # w9 vHang. (Sl)
units? | gPHISAl 87
(A) Force and pressure (B) Work and energy E?_ (A) ac7 3R =ara 4B 3R Soll
(C) Momentum and (D) Force and distance g;’ (©) Ty iR T (D) 7t 3R &
force o ’
17. Full form of ‘SONAR’ is - ' oy V7 AR BT ot Y 8 —
(A) System of Navigation And Research EC% (A) Rxed ot AfeE vs Rad

(B) System in Navy And in Receivers (B) e 39 =t U 39 RAR

(C) Sound Navigation And Ranging S \rss A e AT

(D) Sound Navigation in Aircraft Range (D) |TS SfATeE 39 TURBIUE o
18. gpfor Tories Y G € —

18. The dimensions of coefficient of friction are -

(A) Dimensionless  (B) LT AR Rmrdi= (B) LT
(C) LT? (D) MLT?2 (C) LT (D) MLT?
130-C @ Page 4 of 16
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19. When a gas is heated at constant pressure -

(A) 1ts temperature will increase

(B) Its pressure Will increase

(C) Both tem Perature and volume will increase
(D) Neither pressure nor temperature il

8 el e o . T S
o
(A) $HEHT AUAM dG SITYT
(B) $¥hT qd1d d¢ SIYM
(C) arom s s i A gfe €

increase . g‘; D) 9 (-ﬁ a1 afr\f B HTWT:;;%E ?‘Tﬂ

20. Red colour in tomato is due to - N 20. eHex @ T e BT

(A) Capsaicin (B) Lycopene ;') (A) Eﬁq"ﬁ{ﬁﬁ %g:-tﬁil'eﬂﬁﬂlé I

(€) Anthocyanin (D) Xanthophyll % (C) Geirargfe _ '(Eﬁ v P
21. Which statement(s) is /are correc regardingw= 21. glee & qu:],') Rigld @ w4 .

Dalton's Atomic Theory? ' ' _ Eliﬂ%ﬁ'\“‘fﬁij/% A o Gt E‘f[_

() Al matters are made of very tiny particles, o0 (1) i o B ZeHE 3R

(1) Atoms of different elements have diffe'rent% (1) fafr= ﬁr_‘f__‘g—g o

masses and chemical properties. & Wﬁ;% N P2 wrder G
(Il) The relative number of atoms is variable ini! (Ill)ﬁﬂﬂ ' BN %IIE el
any compound. Og & mqﬁafi(;'f)i'aﬁqﬂ i) % . {|)3ﬁ’\"(ll)

(A) Only (1) and (1)  (B) Only (1) and (11) S-, ! i (D) <8 (1), (1) @i (1)

(©) only (1) and () (D) Al (1, () and (1) <= (C) waa (1) | u( a) sk aéa g f
22. Element having maximum electron affinity is - 22. fdrpaH geldsid dET B g

(A) Lithium (B) Lead oy (A forfdrm ©) ifr

(C) caesium (D) Plutonium 5.:;:3 3@% e B s A i
23." In which part of the eye lies the pigment thatg‘i 23. ;% K

decides the colour of the eyes of a person? o ) Rt 3 (B) SR

(A) Vitreous body (B) Iris C’cg '’ (D) Bretes

(©) Cornes il i B e R
24. \Which of the following pair (Disease-v~ 24 &

Deficiency) is incorrect? QO (A) Jeui — iG<THT AL,

(A) Pellagra—Vit_amln_Ba _— E;‘_) (B) 3 — W ok PrETEEe

(B) Marasmus — Protein an‘_d Carboh‘/ ra & _oram — Pl &,

(C) Pernicious anaemia.— Vitamin B12 E::! s i IEE ! _ 3R |

(D) Hypokalemia — Calcium g:v’,; 25. quf & 4ai &1 et BN BT PROT & —
25. Spherical forms of rain drops is due to A ) (A) THAHY g1 48] Y 1T

4ot B) Surface tension .~

(A) Gravitational force ( : -4 (©) argeE . (D) ST &7 B9 )

(C) Air pressure (D) Pens:ty of w-’vlIE of 26 f=faRad & | Fi<T 59 &1 S H EIEIES]
" i uf The TOUGWANE s o SXRH Rera @1 SaERY £? ,

colloidal solution of liquid in s_ohd. (A) ge (B) g1 .

(A) Rubber (B) Milk T o (D) iy E’ﬁ

(C) shaving cream (D) Cheese 27. ol A B BH R — ! ‘
27. calorific value is in the order of—_ T > PR > Fh“cﬁT{

(A) Fats > Carbohydrates >IProtel.nS (B) PITEIEST > a9Tr > i

(B) carbohydrates > Fats > Proteins (©) T > EFI’GTYIEE??E e

(C) Proteins > Carbohydrates > Fats (D) gar > W > FlagEeey

(D) Fats > Proteins > Carbohydrates

Page 5 of 16
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28.

et Al B A

“The velocity of sound in moist air is more than 2. pug ggar i sl Wl g ;
in dry air because the moist air has - aifaps v &, it =1l o st &
(A) less pressure than dry air. (A) Yyt i 0 qerl Lo SR
(B) more pressure than dry air. (B) gyuh vl @l Jer i if aif w1 |
(C) more density than dry air. ypteps gdl ) YAl 1 aifden Hered |
(D) less density than dry air. (D) wyuhi il o el 1 gy Heied |
29. Which one of the following phenomena cannot 20 fieifeiférer if 41 et eiestl 761 Wl o AT
be attributed to the refraction of light? @ fery famaar vlr-f el il el 27
(A) Mirage (B) Redshift (A) Taromy i .f?l”r.f»
(C) Rainbow (D) Twinkling of stars (C) Zaury (D) fererr?t 1 -'ﬂ'ITf{IIﬁt?.:
30. Which instrument is used to measure the 30 faeiy arsifer T ZIRT Sede1 Fehrer 1 A Al
intensity of light produced by an unknown e G @ @ A e @ fan faa Sud
source in terms of a standard source? &1 QAT AT S 27
(A) Calipers (B) Ammeter (A) o (B) uirex
(C) Dynamometer (D) Photometer (C) GrEmm ?f\' _}D’)‘ﬁ‘frr'ilf'{]‘r:? '
31. Which district has launched a special health  31. fasg forer ot 2022 Wy faem w@red
care campaign 'Aanchal' in June 20227 Qured A afae’ 9w fear 27
(A) Ajmer " (B) Karauli (A) 2512 0) e
(C) Dungarpur (D) Jodhpur: A TRy (D) Siterge
32. Who is the Industries Minister in Rajasthan at  32. gcfap if wroRen  SenT 741 #1727
present?
(A) Vishvendra Slngh (B) Shakyntala Rawat (A) faude fig Mmﬁm E{C|
v Govm'.j i (%) Brajan LafJatay (C) Mfde v earet (D) woi @il wied
Meghwal
33. Who was awarded by R.B.I. for writing books 33 ai. 41, aird. gRT sfum /dfET /i el
~ originally in Hindi on economics/ banking/ W A w9 A fad i fhad feras @ foro fg
financial issues? qRE fdr aran? -
(A) Rajendra Chahar and Dr. Rajeev Saini () 3o TR 3R St el 0
(B) Shrishti Deshmukh and Shruti Sihag B) yfte Swmyw sl aftr Riar
(C) Professor Renu Jatana and Dr. Sagar o ey o5 _
Saawariya i AIBHY X VIEFT AR <. 7wk
(D) Manju Kumari and Dr. Radhika Bajaj (D) 5], N SR ST, Vet o
34. What is the place of Udaipur in the ranking of 34 aifer 2022 #, Wl 100 T ot oo o
100 smart cities released in April 2022? IEAGR BT B AT 3o fiver 2
(A) First @ Third (A) T (B) drerer
(C) Fourth (D) Second (C) =tem ARy e
35 In which city was the Medifest 2022 exhibition 35 #f¥te 2022 yegi @1 RIS fara wex W
orgahized? . fparr TTaT? :
(A) Jaipur (8) Bundi (A) SR (B) 7y
(C) Kota (®) saisalmer %‘a (D) Wi
M —_—
130-C @ Page 6 of 16



36.

a7

| 38.

41.

E

40.

130-C ©

At which place in Rajasthan ‘Suraksha Mantha
n

2022' was organized
on the aspects
and coastal security? a oF tiandar

(A) Sri Ganganagar
(C) Baran

(B) Bikaner

(D) Jodhpur

In which district 'Miyan Ka Bada' railway statio
has been renamed as Mahesh Nagar Halt? ’
(A) Jodhpur (B) Bikaner |

(C) Jaipur (D) Barmer

Chief Minister Ashok Gehlot inaugurated the

. Rajasthan High Performance Sports and

Rehabilitation Centre in Jaipur at -
(A) Vidyadhar Nagar Stadium

(B) Railway Cricket Ground

(C) sawai Mansingh Stadium

* (D) Rajasthan University Stadium
39.

Which scheme has been launched by the

Rajasthan Government to provide financial,

nutritional and educational support to TB

patients?

(A) Chiranjeevi Health Insurance Scheme

(B) Rajasthan Nikshay Sambal Yojana

(C) Nishulk Nirogi Rajasthan Yojana

(D) Rajasthan Government Health Scheme

Which Ministry of Rajasthan launched Silicosis

Portal 2022 in May 20227

(A) Ministry of Disaster Management and
Relief

(B) Ministry of Health

(C) Ministry of Environment & Climate change

(D) Ministry  of Justice  and
Empowerment

Which (Geographical areas and districts) is not

Social

correctly matched?
(A) Bhorat Plateau — Chittorgarh and Bhilwara

(B) Kubad belt — Ajmer and Nagaur
(C) Uparmal Plateau — Bhilwara and

Chittorgarh
(D) Chhappan’s plain — Bansward and

Pratapgarh

36. qmﬂumﬁﬁmqwmvﬁmaﬁ?ﬁﬂuwm

'G\:: yesli URYGREN A 2022° @1 AT
o rar?

(A) AR (B) i

(C) ari Dyt

37. farer ford) 4 Rerd fivai @1 4TSt Y6 IAT A
a1 Ry R gfee B} faAr W 2

(A) SR (B) AT

(C) TR AR
3a.§@qﬁmmaﬁaﬂg?ﬁwma§
Wit Wl Us Rfaforcy Hex ™
e fdar — p

(A) ReEmR TR wfeEE 4

(B) Yo frde TSs
ﬂmmﬁﬁ%ﬁ%ﬂqﬁ

(D) <o graRier wiem A
39_meaﬁq‘rﬁﬁfaﬁﬁﬁm.

(A) R w@rRea 41 FreT ~
oA fera dad arer
(C) Forgres PRI IR AT

(D) ISR WRER @R A1

40. w§ 2022 ¥, VORIA @ frg wEer™m A
RiferpIRI Wiee 2022 &1 AR far?
(A)mnﬁuﬁaﬁ"\'mﬁw

4By wRex HATer
B G I Od s S
M. PrefaRa ¥ O e @ERm e iR {id)

|& gafera el 87
AT ARTE BT TR — fiieTTe IR Hierdrst

(B) Jag Ue) — AR IR AFIR
(C) SURAeT FT USSR — Meraret 3R Rreme

(D) B F1 A — Fivgars! 3R Udie

page 7 of 16
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42. The pictures made in 'Pichwai' artefacts refer
to -
(A) the life of Lord Ram
(B) the life of Pandavas
(C) the life efj.ord Krishna
(D) the life §Ftord Shiva

43. The festival@P Gangaur is celebrated on which

date? e

(A) Posha sfitkla (B) Magha Shukla
Tritiya ¢ Tritiya

(C) Chaitra Shukla (D) Falgun Shukla
Tritiya Tritiya

44. ‘Munchala I&Bhaui:’ Temple is located at -

(A) Ghanerge- (B) Menal
(C) Nakora 8 (D) Kiradu
45. Match the @I_bwing-
List—1 ¢ List —1I
(a) Wool M@i (1) Kishangarh
(b) Marble Mandi (2) Bikaner

(c) Kanpur of Rajasthan (3) Bhilwara
(d) Garment City (4) Kota

i

(A) a-2,b-1564,d-3  (B) a-2, b-1, c-3, d-4
(C) a-4, b-3g2, d-1 (D) a-1,b-2,c-3,d-4
46. Valaya ornamtent is worn in -

(A) Hands E:; (B) Head
(C) Neck <7 (D) Waist

47. |n terms of water available the top two river
basins of Rajgsthan are -
(A) Banas apd:Luni (B) Mahi and Banas
(C) Chambaland Mahi (P) Chambal and Banas
48. Where \a\.fr:\\i;ij the ‘Desh Hiteshini Sabha’
established fof the purpose of social reform?
(A) .Udaipurch) (B) Ajmer
(©) saipur * (D) Shahpura
43. Between whom the Treaty of Purandar
(1665 AD) signed?
(A) Shivaji — Sawai Jaisingh
(B) Shivaji — Raja Mansingh
(C) Shivaji — Bhagwant Das
(D) Shivaji — Mirza RajaJaisingh,

42. ‘Rpaid werpfadr # @ o 3§ by
e
(A) raF M B SHE
(B) yigal @ oiaq A
ﬂmmwif}ﬁﬂﬂ?@
(D) *mrar fIrg & offa |

43. niR @7 @ieR fra fafd B A= S 8?

(A) U1y g gevar  (B) AT ga gedrar
SO = gt (D) BT el Tt
4. wwer AETdR’ AfeR Rerd & —
Ly amRE (B) T
(C) reT (D) fpRTg,
45. fa=ferfRaa o1 e —
T — | T — 1
(a) T HEY (1) frerTe
(b) WTHRHR HE! (2) fiwR
(c) XTSI HT HEYR (3) HeTarsT .
(d) TrRHE (4) PreT

T~ Qhy) Rem Classes You/ Tube
a-2,b-1,c-4,d-3  (B) a-2, b-1, c-3, d-4
(C) a-4,b-3,¢c-2,d-1 (D) a-1, b-2, c-3, d-4
46. gooraT AMEOT BT ST & —
/%avﬁ H (B) Rx w®
(C) T H (D) 7R H
47. Sl U & MR U I[OTRIF & Idy
g1 Afeai & A= € —
AT AR (B) 9 aiR a
(C) =Traet 3R #EY (D) Tree 3R g9
48. gAY GUR & I ¥ w7 RANN o A
RITTAT Hal BT T of?
ﬂaaug?
(C) Sy
9. ge=r @1 Wi (1665 AD) s meg g2 ofY?

(A) RBrarsh — warg Ry
(B) fRrarsil — 1o "FRiE
(C) Rrash — Wrddaery

R — fri <o sk

e R
130-C ©
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50. ) ;
To whom the Ward Panch, Up-Sarpanch 50. groRelrl 3 a1 g, Ig-IRGd forr Taferd aR

address his/her resignation? YT UFTIA T/ &l &7
(A) Block Development Officer Mm faerr aiferTd) @1
(B) village Development Officer (B) 7 famra ifereTl @1
(C) pradhan, Panchayat Samiti (C) g, darad WAl B

(D) Sarpanch (D) =Y @B

51 Which of the following is NOT a function of the 51 Fiferfa 3 ¥ @i Gl e Favmar 1
Municipal Body? T8l 27 Shr) Ram clagses
(A) Poverty alleviation (A) TR Fraror 0
(B) Excise control R %
(C) Public health and sanitation (C) SFaTeY Td \HTg 8
(D) Fire fighting ' (D) afTer= -
2. Dharma stupa in Churu is also known as — 52. & o Lokl BT 39 Bd H 2 T AT ® —8
(A) Clock tower at Birla temple (A) fazelr Hfex @1 HeTER 5‘2
(B) Nihaal Tower (B) ferel TR R
(©) Lal Ghantaghar Tl HETER =
(D) Vijay Stambh (D) fasrg W™ 0
53. Which one of the following (Ruler 53. fyfaa # 9 (SAeEH Rgersit @ ?TF{%
contemparary to Alauddin Khilji - Place) is not i -
matched correctly? : IR ) W .:i@[ =t E_\l_
(A) Chittorgarh — Rawal Ratna Singh (A) RRriteTe — RMacl YARiE e
(B) Ranthambhore — Hammir Dev Chouhan (B) ook — TR <9 dler =
(C) Jodhpur - Veeram Dev ; SR — 4R <d =
(D) Siwana — Shital Dev (D) Ryarom — el <@ o)
54. Badi Teej festival is celebrated in Rajasthan 54. 3roeE # g9 Nl @1 ATER AT ST %
on - g_(:_jsm o
(A) Bhadra Krishna Tritiya AEE T g \A N
(B) Shravan Krishna Tritiya (B) #1Tqo1 G Feirdn @ Shr) R"""‘”d%ﬂ”
(C) Bh'adrapada Shukla Tritiya I CR A G G RID ) ap)
(D) Chaitra Krishna Tritiya (D) == HwT RN i
55. Where is the Som Kagdar Irrigation Project 55. IR W WM dreR fHEE oA wel
located in Rajasthan? Rera 87 : -
(A) Bundi (B) Kota ' (A) g1 (B) rer C P
(C) udaipur (D) Sirohi l(Serrin (D) RRAY 8
56. For the help of which of the following states 56. STl 9T 7 1857 B fagie @ eRM fhg ot N
Karauli sent its army during 1857 revolt? B FERIET vG AT AT FAT? ;
(A) Jodhpur (B) Jaipur )N/Gﬁtﬂiﬁ (B) SR %
(C) Mewar (D) Kota (C) #arg (D) @reT plils
57. ‘Ranmal Chhand’ was composed by - 5T, Rvme BT @) <A ey e
(A) Hemraj (B) Shreedhar (A) TS BT 5§
(C) Dalpat . (D) Narpati Nath (C) germa (D) =Rufey =11
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58. fywpfeifeac g\rﬁﬂrra gel—verr) A Fy
yafera €l 27
: fagen @ge W< — T
(B) 4l XA — @R
GO e Wi — AND
(D) &1, B, e — Frarst
59. fy=y 3 ¥ FpadT gl A BT 217

l\
sl L)

SRS (B) 9@
(C) WFTE (D) ITE
so.w@aﬁm@&ﬁﬁaﬁﬂﬁfﬁﬂﬁﬁm
g_
(A) Tl B Tl
(€) ARArS (D) FaTS!
61. Prfofaa ¥ § @I @ (APed — @)
P T 7
(A) Siderr HIdT — =MhY,
B g A — afmt
(€) Rrem & — R

(D) gfemfq AraT — M HdlG
62. 3oty #, ORI Gfory IrbIeAl dEl Rerd
&7
(A) 3R (B) STAYR
_ ABFIR (D) Prer
63. HaRaeR wE T & —
SRR TRIETd H(B) ST ARET #
(C) <1 Her (D) e wrerg &
64. <fomch wr @1 Aem e d ¥ B Ry
s fovar smar 82

(A) TR BT AR
(C) i (D) warg AEigR
65. fr=fafa # & @9 @1 ST o 27
() 7T W~ (B) wRT — e
BIeT
(C) TR ) %mm_
TabrEl — <iw o
66. o # AR B ww wares R @ -
(A) @1¥IT 3R ward wmeqR
(B) AT 3R PRI
4 SR 3R ST

(D) SR 3R AR

58. Which one of the following (Cement industry-
Place) is not correctly matched?
(A) Birla White Cement — Gotan
(B) Shree Cement — Beawar
(C) Mangalam Cement — Morak
(D) J.K. Cement — Nimbahera
59. Koshvardhan was the original name of -
(A) Shergarh (B) Bhangarh
(C) Mangarh (D) Ramgarh
60. The dialect spoken in Dungarpur and Banswara
area is known as -
(A) Malwi (B) Wagdi
(C) Marwari (D) Mewari
61. Which one of the following (Lok Devi— Place) is
not matched correctly?
(A) Shitala mata - Chaksu :
(B) Aai mata - Osian E_%
(C) shila devi — Amer
(D) Dadhimati mata — Goth Manglod
62. Where is ‘Rajasthan Police Academy’ situated
in Rajasthan?
(A) Ajmer (B) Jaipur
(C) Jodhpur (D) Kota
63. Katriyasar is the chief seat of -
(A) Jasnathi sect (B) Laldasi sect
(C) Dadu Panth (D) Vishnoi sect
64. Dadhimati Mata fair is held in which of the
following district?
(A) Dungarpur (B) Nagaur
(C) Baran (D) Sawai madhopur
85. Which of the following pairs is incorrect?
(A) Masuriya Saree—  (B) Namda — Jodhpur
Kota
(C) Marble carving- (D) Baadla — Jaipur
Tonk
66. The major Beryllium producing districts in
Rajasthan are -
(A) Dausa and Sawai Madhopur
(B) Baran and Karauli
(C) Jaipur and Udaipur
(D) Jodhpur and Nagaur
130-C @
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67.

68.

69.

70.

71.

72.

130-C ©

Which one of the following statements is not
true about Berach river?

(A) Gambhiri and Orai are its tributaries.
(B) It meets Banas near Gulabpura (Bhalwara)
(C) It originates from Gogunda hills.

(D) 1t belongs to Ganga river basin.

In how many phases was the integration of
Rajasthan done?

(A) Seven
(C) Four

(B) six
(D) Five

Which of the followmg Chhatriis not located in
Jodhpur?

(R) 8 Pillar Chhatri

(€) Mama Bhanja ki
Chhatri

Where is Kaka Ji ki Bawri located in Rajasthan?“

(A) sikar ~ (B) Dausa |

(C) Bundi (D) Udaipur

The row of seven fire altars (Vedika) has been

found at -

(B) Mandore ki Chhatri
(D) Jaswant Thada

(A) Ganeshwar (B) Kalibanga

(C) Bairath (D) Ahar

Which of the following statements is/are

correct with regard to ratio of women per 1000

males as per 2011 census in Rajasthan?

(i) General gender ratio in all districts remained
lower to 1000.

(ii) General gender ratio in Rajasthan was lower
to national average.

(iii) General gender ratio in urban areas of all
districts (except Dholpur) remained lower
to 1000. o

(iv) General gender ratio in rural areas of all
districts (except Pali) remained lower to
1000.

Code -

(A) i, i, iv

(C) i, ii, iii, iv

(B) i, ii, ii
(D) ii, iii, iv

i)
RN‘%

WY TE 87
(A)mﬂﬂaﬁqsﬁiﬁﬁﬁﬁw;‘w?'

%_Ev' )a‘iﬁmmq
et 21
(cmgmgaqaﬁmwwﬁam%l
(D) 7 v <Y ARy B sica Tl B

68. IR BT YAl faa =R H g7
) ‘Rany clagses Q‘{ou’rujoe)

qrd (B) ©:
(C) TR (D) dfa

69. Sherge 3 P 3§ B B Rerer T 27

ﬂgwaﬁm (B) FUER BT T
(C) \mT Wi & Bl (D) Srdd oISl

70. gyt Ot @ AT ISR H wEf Rerd 87

() g (D) SeagR

7. A e AHrE B Ul W g8 © -

Sh') Ram asse ST
(M) TR WA

{C)‘é‘)'\flﬁf-‘l (D)STIEE'@I
72. JoReE A 2011 @ SEIVET B IIFER Uf
1000 JoSi W W@l & oFu & Wdw A
PreferRad F & B A1 T W & /2
,Hﬂ'lﬁﬁﬂﬂ‘rﬁwﬁmjtrmmooﬁm
Nar |
d.}ﬂwﬁwwmeﬁwﬁ
HH ol |
(ﬁi)mﬁﬁ@ﬁ@@&ﬁ@’l@ﬂﬂ)%%ﬁaﬁi
H g T U 1000 W FH @
A T Rl # (GTel BT BreHR) & AT E
# A ol 3T 1000 W HH TET|

e | i
% i, iv _ (B) i, i, iii £
(©) i, ii, iii, iv (D) ii, iii, iv
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73 Which of the following pairs  (Peasant
Movement-Leaders) s not correctly matched?
(A) Bundi = Nayanuram Sharma
(B) Begun - Magharam Vaid
(C) Meo - Yaseen Khan

3 [l 1 Q @l an (s side -
Acl) yferar =i @2 3
(A) q—reRm
S VR e

O (C) dg-arfi @,
(D) Bijolia — Vijay Singh Pathik R (D) Rsnfera-fm Rig uftis
7. Which one of the following woman did not go <74, T Wi & ok Rrefif 3 @ @RE
to jailin the freedom struggle? t-N- Tl Sfet =7l 1
(A) Anjana Devi (B) Ratna Shastri Eg (A) SIS &) (B) Tt Wl
(C) NarayaniDevi (D) Kali Bai M ©mred @ gy
. 15 Read the following statements - 5. fawfoie wuEt o ufey —
(i) Viratnagar previously known as Bairath is a (i) fRIeTR R Teer dRre @ M W ST ST
town in Jodhpur. ﬁ off, SR P T R B
(ii) Bairath was a part of Mauryan Empire. 0O (i) IS, WX Wy @ R ol
Choose the correct code - g el de g -
(A) Only (i) is true Y (A dad () W ®
(B) Only (ii) is true 2 g (B) maet (ji) wer ® \
(C) Neither (i) nor (i) is true Q@) )
(D) Both the statements are true Q! P el §
76. Where is NathuRam Poddar’s Haveli located in  QO7S. ARRM TER B g, amEr) § wal Rg &
Shekhawati? I‘c‘a
(A) Mahansar (B) Nawalgarh E:a (A) TETHR BRGRE ]
(C) Mandawa (D) Bissau = (C) wosm (D) fawrs;
77. In which of the following forts is the tomb of Eg”- ! Wd fig we @ e A R R T
Sufi Saint Mitthe Shah situated? ¢ g
(A) Kumbhalgarh (B) Gagron T on BHTS /‘i‘g RN
(C) Nahargarh (D) Chittorgarh o O T (D) feriree
78. Read the following statement about ‘Vijay 78 ‘R wwr & X & INfeRed TE 7
Stambha’ - ' 8 ufey —
(i) It is a nine story tower. N (i) e A AT W §
(i) Mandan was its main architect. “mﬁ (if) 7V THPT H& IRGHR A7 |
Choose the correct code - @ % el fe gAY —
(A) Only (i) is true ﬁN\I <~ /ﬁ Pad (i) e 2
(B) Only (ii) is true (B) daa (ji) & &
(C) Neither (i) nor (ii) is true () F 4 (i) & (i) v 2
(D) Both the statements are true (D) T P u ¥
73 Who defeated the giant army of British and 79 1857 @ wify ¥ sy Td SR T B W
Jodhpur state in the Revolution of 18577 AT Y e Wi R o
(A) Thakur Kushal ~ (B) Tatya To e - e g
b ya Top SO e Rig 3 (B) e A0 A
(C) Rawat Keshari (D) Jayadayal (C) v awd Rig 3 (D) SATE A
Singh
130-C @
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80. \a\fhich of the following statements is/are true 80. "mudfl TR @ B wf W T/ B

in relation to “Kachchhi Ghodi” dance?
1. Itis mostly performed by women. .
2. It originated in the Shekhawati region of 1.77% T A JHT T gl

Rajasthan. 2. TE TORAM ® @) &7 [ IR TI;T|
3. fvre: frae @ eaa” W far S 2 |

4. 7% T TEWEl & AR H PH g A

B T B?

3. It is mostly performed at the occasion of
Marriage.

4.1t started during the reign of Shahjahan.

Choose the correct code - o0 @ e Y —
™ 3and 4 (B) 2and 3 Iés (A) 33iR4 }Brzsi“r\fa
(© 1anda (D) 1and 2 A (0) 131R4 > (D) 13k 2. .
81. Choose the correct descending order of heights(‘:‘; 81. PyefiRad gddt @ Sersdl ST FE AaRIE B
of the following mouﬁtains - % gﬁrq -
(A) Khoh, Achalgarh, Ser Peak, Taragarh = (A) @E, IEeTe, ¥R Ui, TRITe
(B) Achalgarh, Khoh, Taragarh, Ser Peak ' (B) srarerTe, e, TRMG, IR dIF
(C) Taragarh, Khoh, Achalgarh, Ser Peak ﬁ (C) RIS, TIE, AT, R 0w
(D) Ser peak, Achalgarh, Khoh, Taragarh % . _ W Iﬂ'ﬂﬁ elie, g, ARG
82. As per administrative report 2020-21 of they 827 g famrT 2 weare RS 202021 % SFTAR
forest department the total forest area ing Yo & hed 97 &3 8 —
Rajasthan is - @
(A) 32,737 square kms ran73 @ A EE :
(B) 32,863 square kms ﬁ (B) 32,863 @ fhAN.
(C) 33,340 square kms % (©) 33,340 @t f&HAL.
(D) 31,845 square kms _ ™ (D) 31,845 & fob.A. _
83. |n which Battle did Maharana Sanga defeatg 83. wERION G N 59 gg F- AR B WA B
Babur’s army? . o WY

ik .
(A) Battle of Bayana  (B) Battle of Ghaghara A T B e (B) UERT & WS
(C) Battle of Panipat-1 (D) Battle of Khanwa (©) TTa -1 & =i (D) WHaT B qS1g
"84, The place Kolu village is associated with whichr""‘ 84. iy, WA o T Qe 3 et 87 |

&
folk deity? :
(A) Devnarayana ji (B) Tallinath ji % (A) IR S (B) TooiTI oif
(C) Ramdeo ji (D) Pabuiji = (C) < it | BT ursh
85. The President’s rule was implemented cecond s 85 XIGTRUM AW H O AR WU AR AT
time in Rajasthan statein— faam T o — |
(A) 1980 (B) 1992 (M) 1980 (®) 1992
(€) 1977 (D) 1967 AT 1977 % (D) 1967 3
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86.

87.

88.

89.

90.

a1.

92.

93.

Who was the ruler of Sirohi at the time of the

Battle of Dattani?

(A) Maharao Surtan  (B) Maharav Vijay
Singh

(€) Amar Singh Rathod (P) Rao Karan Singh

Where is Gopichand Cave located in Rajasthan?

(A) Mount Abu (B) Jhalawar

(C) Jaipur (D) Tonk:

The first conservation reserve for Bear in

Rajasthan is -

(A) Talchapar

(C) sundha Mata

(B) Bandh Baretha
(D) Kanak Sagar

On 30" March 1949, greater Rajasthan was

inaugurated by - ;
(A) V.P. Menon (B) Sardar Vallabh Bhai
Patel

(©) N.V. Gadgil (D) Jawahar lal Nehru

Who laid the foundation of Chittorgarh fort?

(A) Maharaja Rai Singh (B) Jayant Chauhan

(C) Chitrangada Mori (D) Sawai Jai Singh

In which of the followir,g districts the sub

humid climate is found in Rajasthan?

(A) Ganganagar, Hanumangarh, Sikar, Churu

(B) Udaipur,
Chittorgarh

Rajsamand, Pratapgarh,

musical

(C) Kota, Baran, Bundi, Jhalawar
(D) Jaipur, Ajmer, Alwar, Tonk
Manjira,

Tanpura,  Chautara

instruments are used in which of the following
dances?

(A) Terahtali Dance  (B) Walar Dance

(C) GavariDance . (D) Ghoomar Dance

Which Fort amongst the following comes in the
category of Desert Fort?

(A) Mehrangarh (B) Gagron

(C) Junagarh (D) Nahargarh

130-C @
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6. i) o g b wrl RITED T 2ARTD o

R Qe

() an Rie wEIS

(B) WERIA fasmfig

(D) rar )Y Rig

'87. roenr 3 AR T el RO T

prieay  OFE
(©) IR Dy E
88. Yl @1 Ygel e, 3RV g —

(B) & avaT
(D) T AR

(A) TTeTBIuR

H e W

89. 30 W 1949 PV gE ST T TEHTEH
ey faar?

() 4. ). ) KGR Tee TE
= g

(©) w41, mefier (D) STATEN ol Vg

90. RriteTe gif & GRS B A7
(A) werren waRiE  (B) SIAd wiEH

B ferarTe Ary (D) warg Wi

9. fFr=fifae ¥ W <roReE @ fbe Rrat § W
arg; rerarg Rl Sl 87
(A) TR, &AMTg, A, g6
(B)W,Wa,m,ﬁﬁi@w
(C) Brer, awi, 4, emaTS

AP SR, ISR, R, i
92. WSIRT, FYRT, WART ar uE b war

arenferRad fer s A R wmar 22
WYY Rl e (B) areR T
(C) a8 T (D) ¥R e

93. fr=ifefad # & B |1 fben wowrdy fie
B 2oy F e 8?

(A) FERTTTG
(C) SFITTE

ABY TR
(D)_ Aree
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94. Which of following is known as ‘Tajmahal of
Marwar'?
(A) Lalgarh Palace (B) Jaswant Thada
(C) Jagmandir Palace (D) Bada Bagh
95. Which of the following (Cattle fair and Place) is
not correctly matched?
(A) Veer Tejaji Cattle Fair — Parbatsar
(B) Mallinath Cattle Fair — Tilwara
(C) Jaswant Cattle Fair — Karauli
(D) Gomati Sagar Cattle Fair — Jhalawar
Who ‘was the Maharao of Kota at the time of
treaty with the British in December, 18177 |
{A) Ummed Singh| + (B) Ram Singh Il
(C) Kishor Singh (D) Ram Singh |

9_7- Match the following —

96.

(a) Chari Dance (1) Kalbelia
(b) Ranbaja Dance  (2) Mev
(c) Shankaria Dance  (3) Gujjar
(d) Chakri Dance (4) Kanjar

Choose the correct code —

(A) (a)-(a), (b)—(2), (c)-(1), (d)~(3)

(B) (a)~(3), (b)—(2), (c)~(1), (d)~(4)

© (a)—(1), (b)—(2), (c)=(3), (d)—(4)

(D) (a)~(2); (b)(3), (c)~(1), (d)-(4)
98. |ndoni folk song is sung -

- (A) by females at birth of a son
(B) during marriage ceremony
(C) by the ladies while going to fetch water

* from the well
(D) by wife at husband’s death

99. What was 'Daamani' in Marwar?
(A) A revenue tax (B) A type of Jewellery
(C) A type of Odhani (D) A Government

policy
100. Where was the Bhawani Natyashala
established in 1921 AD?
(A) Jhalawar (B) Jaipur
(C) Jaisalmer (D) Ajmer

94,

9s.

farg 3 1 o ararg &1 arAHEd” B S

87

(A) crerTe Hed AAGT AF]

(C) srrfer wEd (D) 771 4T
Frferfan @ F1 A1 (477 A7 79r)
gafera & 27

(A) 4R oISl 97 — TR
(B) wfeerr gepren — faaarsr
A T — FA]

-%{mmm AT — ATATATS

96.

97.

98.

fovaR 1817 # U<l & A4 AfF % F93 Fiel
@ HERE F 47
) wEfiE | (B) =rafsz 1

(C) fpwir fiiz (D) wr=f4E |

wifera At —

(a) = T (1) FTASfAT

(b) RUMETAT e (2) A

(c) THRAT Fe T (3) Toie e

(d) TF4G JA  (4) BOR o c ‘

HE e gy — !

(A) (a)—(4), (b)—(2), (c}-(1), (d)3) f;: g S;
ABT (a)~(3), (b)-(2), (c)—{1), (d)4) SN

(©) (a)~(1), (b)~(2), (c}3), (d}~{4) /’f’j;/}:

(D) (a)-(2), (b)—(3), (c)—(1), (d)—{4)

M @I® a7 Sl & — _

(A) 9 & 9 & §Hg AfeaE =9

(B) fage 99RIE & SIS
orftansi gR1 a¢ & o 39 W =
(D) 9fci &1 &7 R Uil ERT

99. HRars # gl Tr o7 ?

(A) T I Y (B) T yaR @1 Frue
A 3iie &1 U UeR (D) Us wxeT are

100. 1921 %, & warft Freawen T w@nfE & TE

off?
B ILICI (B) SrIR
(C) SrerR (D) 3R
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